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B.Com. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

Third Semester 

Commerce 

ADVANCED ACCOUNTANCY - III 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all the questions. 

1. What do you mean by partnership? 

 Tmhõsø© £ØÔ }Âº AÔÁx ¯õx? 

2. What is interest on capital? 

 •uÀ «x Ámi GßÓõÀ GßÚ? 

3. Define Goodwill. 

 |Øö£¯º Áøμ¯Ö. 

4. What is sacrifice ratio? 

 v¯õP ÂQu® GßÓõÀ GßÚ? 

5. What do you meant by gain ratio? 

 Buõ¯ ÂQu® £ØÔ }Âº AÔÁx ¯õx? 

6. What is meant by joint life policy? 

 Tmk B²Ò Põ¨¥mk vmh® GßÓõÀ GßÚ? 
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7. What is revaluation account? 
 ©Ö©v¨¥mk PnUS GßÓõÀ GßÚ? 

8. What is Dissolution? 
 Pø»¨¦ GßÓõÀ GßÚ? 

9. Who is called as an insolvent? 
 ö|õi¨¦ {ø» Aøh¢uÁº GÚ ¯õº AøÇUP¨£kQÓõº? 

10. What do you meant by maximum loss method? 
 AvP£m\ |mh•øÓ £ØÔ }Âº AÔÁx ¯õx? 

 Section B (5 × 5 = 25) 

Answer all  the questions. 

11. (a) What are the differences between fixed capital 
account and fluctuating capital account? 

   {ø»•uÀ ©ØÖ® ©õÖ£õk •u¾US Cøh÷¯ EÒÍ 
÷ÁÖ£õkPÒ ¯õx? 

Or 

 (b) Manjula and Vennila started business on 1st April 
2014 with capitals of Rs.60,000 and Rs. 50,000 
respectively. On 1st July 2014 Manjula withdrew 
Rs.8,000 from his capital. Vennila introduced 
additional capital Rs. 10,000 on 30.9.2014. 
Calculate interest on capital at 5% for the year 
ending 31st March 2015. 

   ©g_Íõ ©ØÖ® öÁso»õ 1 H¨μÀ 2014 AßÖ 
¹.60,000 ©ØÖ® 50,000 •u½mk öuõÈø» 
öuõh[QÚõº. ©g_Íõ 1.7.2014 À ¹.8,000 zvøÚ 
uÚx •u¼¼¸¢x ö\õ¢u ÷uøÁUS GkzxU 
öPõshõº. 30.9.2014 À öÁso»õ ¹.10,000 
zvøÚ TkuÀ •u»õP DkQÓõº. 31 ©õºa  2015 
|õ÷Íõk •iÁøh²® BskØS›¯ 5 \uÃu •uÀ 
«uõÚ  Ámi°øÚ PnUQkP. 
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12. (a) Explain calculation method of super profit method 
on Goodwill Calculation. 

   E¯º C»õ£ •øÓ°À |Øö£¯º PnUQmk •øÓø¯ 
ÂÁ›. 

Or 

 (b) Kannan and sundar are partners in a firm sharing 
profit and loss in the ratio 5:3. Madhavan joins on 
1st April 2012. The following revaluations were 
mode: 

  (i) Increase the value of building by Rs.10,000.  

  (ii) Raise goodwill for Rs. 16,000.  

  (iii) Reduce the value of Debtors by Rs.2,000.  

  Prepare Revaluation account. 

   Psnß ©ØÖ® _¢uº  5:3 C»õ£|mh ÂQuzvÀ 
¤›zxU öPõÒÐ® Tmhõsø©°À ©õuÁß 
1.4.2012 AßÖ ¤ßÁ¸® ©Ö©v¨¥mkUS ¤ß 
CøÚQÓõº. 

  (i) Pmihzvß ©v¨ø£ ¹.,10,000 E¯ºzu 
÷Ásk®. 

  (ii) |Øö£¯º ¹.16,000 ©õP E¯ºzu ÷Ásk®.  

  (iii) PhÚõÎPÎß ©v¨ø£ ¹.2,000 SøÓUP 
÷Ásk®. 

   ©Ö©v¨¥mk PnUøP u¯õ›UP. 

13. (a) How revaluation of assets and liabilities are done 
when a partner retires? 

   TmhõÎ K´Ä ö£Ö® ö£õÊx ö\õzxUPÒ ©ØÖ® 
ö£õÖ¨¦PøÍ GÆÁõÖ ©Ö©v¨¥k ö\´¯¨£kQÓx? 

Or 
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 (b) Ram, Sam and Tom are partners sharing profit in 
the ratio of 4:3:2. Sam retires and goodwill is valued 
at Rs. 86,400. No goodwill appears in the books. 
Ram and Tom agree to share future profits in a 5:3 
ratio and not to raise goodwill in the books of the 
firm. Pass journal entries. 

   Cμõ®, åõ® ©ØÖ® hõ® BQ¯ TmhõÎPÒ C»õ£ 

ÂQuzøu 4:3:2 GßÓ ÂQuzvÀ £Qº¢x Á¢uÚº. 
åõ® K´Ä ö£ÖQÓõº. |Øö£¯øμ ¹.86,400 US 
©v¨¤h£kQÓx. |Øö£¯º CuØS •ß EÒÍ 
PnU÷PmiÀ Ch® ö£ÓÂÀø». Cμõ® ©ØÖ® hõ® 

u[PÍx GvºPõ» C»õ£ ÂvP©õP 5:3 
PnUQkÁõºPÒ ©ØÖ® AÁºPÎÀ HmiÀ |Øö£¯º 
E¯ºzu¨£h ©õmhõx GÚ öPõsk SÔ¨÷£mk 
£vøÁ u¸P. 

14. (a) Explain the Garner Vs Murray case. 

   Pºnº Gvº •÷μ ÁÇUS ÂÍUS. 

Or 

 (b) A, B and C are partners sharing equally. They 
decided to dissolve the firm. The balance sheet was 
as follows (After the sale of Assets) 

Liabilities Rs. Assets Rs. 

Capital   Cash  3,750

 A  4,500 C’s Capital 
overdrawn 

 1,500

 B  3,000 Realization   2,250

   7,500    7,500

  C become insolvent and he could not bring anything 
to the firm. Prepare ledger accounts to close the 
books. 
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   A, B ©ØÖ® C BQ¯ TmhõÎPÒ C»õ£zvøÚ 
\©©õP ¤›zxU öPõÒQßÓõº. AÁºPÒ 
A¢{ÖÁÚzøu Pø»¨¦ÒÍõÁuØS •iÄ 
ö\´QßÓÚõº. C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ 
(ö\õzxUPÒ ÂØ£øÚUS ¤ÓS). 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
•uÀ   öμõUP®  3,750

 A  4,500 C’s GkzxU öPõsh 
•uÀ 

 1,500

 B  3,000 ©Ö©v¨¥k   2,250

   7,500    7,500

  C ö|õi¨¦ {ø» AøhQÓõº ©ØÖ® {ÖÁÚzvØS 
Gx® uμ C¯»õx GÚU öPõsk {ÖÁÚ® {øÓÄμ 
÷£÷μmk PnUSPøÍ u¯õ›UP. 

15. (a) How do calculation of purchase consideration? 

   öPõÒ•uÀ ©Ö£¯ß GÆÁõÖ PnUQh¨£kQÓx? 

Or 

 (b) A, B and C share profits and losses in the ratio 
2:2:1, the following is the balance sheet 

Liabilities Rs. Assets Rs. 

Sundry Creditors  30,000 Cash  4,000

Capital  Sundry Debtors 44,000

  A 30,000 Stock 44,000

  B 24,000  

  C 8,000  

 92,000  92,000

  The firm was dissolved and the assets were realized 
gradually. Rs.20,000 was received first, Rs.30,000 
was received next and Rs. 18,000 received finally. 
Calculate the distribution of cash is made. 
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   A, B ©ØÖ® C BQ¯ TmhõÎPÒ •øÓ÷¯ C»õ£ 
|mhzøu 2:2:1 •øÓ°À £Qº¢x Á¢uÚº. 
C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
£Ø£» PhÜ¢÷uõº 30,000 öμõUP® 4,000

•uÀ  £Ø£» 
PhÚõÎPÒ 

44,000

  A 30,000 \μUQ¸¨¦ 44,000

  B 24,000  

  C 8,000  

 92,000  92,000

 {ÖÁÚ® Pø»¨¦ÒÍõQÓx ö\õzxUPÒ •øÓ÷¯ 
©Ö©v¨¥k ö\´¯¨£kQÓx. •u»ÁõP  ¹.20,000® , 
Akzx ¹.30,000 ©ØÖ® CÖv°À ¹.18,000 BP £n® 
ö£Ó¨£mhx. £n £QºÄ •øÓø¯ PnUQkP. 

 Section C  (3 × 10 = 30) 
Answer any three questions. 

16. Prepare the Capital Accounts of the partners, Vani and 
Rani from the following details assuming that their 
capitals are fluctuating. 

 Vani 
Rs. 

Rani 
Rs. 

Capital as on 1.4.2013 2,10,000 1,20,000

Drawings during 2013-14 18,000 12,000

Interest on Capital at 6% ? ?

Interest on Drawings 450 300

Share of Profit 2013-14 24,000 18,000

Partner’s Salary - 6,000

Commission 4,800 3,600

Interest on Rani’s Loan A/c 3,000 –
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 TmhõÎPÎß •uÀ PnUøP ©õÖ£õk® •uÀ •øÓ°À 
u¯õ›UP, Áõo ©ØÖ® μõo AÁºPÐøh¯ ÂÁμ[PÒ 
¤ßÁ¸©õÖ 

 Áõo 
¹. 

μõo 
¹. 

1.4.2013 ß £i •uÀ 2,10,000 1,20,000

2013–14 ß Gk¨¦ 18,000 12,000

•uÀ «x Ámi 6% ? ?

Gk¨¦ «x Ámi  450 300

2013–14 C»õ£ £[S 24,000 18,000

TmhõÎPÎß \®£Í® - 6,000

PÈÄ 4,800 3,600

μõÛ Phß «uõÚ Ámi PnUS 3,000 –

17. The following are the Balance Sheet of Pandian, Pallavan 
and Chozhan sharing profits and losses in the proportion 
of 1/2, 1/3 and 1/6 respectively as at 31.12.2014. 

Liabilities Rs. Assets Rs. 

Sundry creditors 94,500 Cash 10,000

Bills payable 31,500 Bank 1,20,000

Reserve fund 1,20,000 Land and 
building 

2,50,000

Outstanding expenses 4,000 Furniture 35,000

Capital:  Stock 1,45,000

Pandian 1,80,000   

Pallavan 1,65,000   

Chozhan 95,000 4,40,000 Debtors 1,30,000

 6,90,000  6,90,000
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 They decided to admit Cheran into the partnership with 

effect from 1st January, 2015 on the following terms. 

 (a)  Cheran should bring in Rs.80,000 as his capital for 

¼ share of profits. 

 (b)  Furniture be depreciated by Rs.3,500. 

 (c)  Stock is written off on 10%. 

 (d)  The value of land and buildings having appreciated 

be brought upto Rs.3,25,000.  

  Show revaluation account, capital accounts, bank 

account and the balance sheet of the reconstituted 

partnership. 

 £õsi¯ß £À»Áß ©ØÖ® ÷\õÇß GßÓ TmhõÎPÎß 

31.12.2014 B® |õøÍ¯ C¸¨¦ {ø» SÔ¨¦ ¤ßÁ¸©õÖ 

AÁºPÒ C»õ£ ÂQuzøu 1/2, 1/3 ©ØÖ® 1/6 GßÓ 

•øÓ÷¯ ¤›zx Á¸QßÓÚº. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uºPÒ 94,500 öμõUP® 10,000

ö\¾zxÁuØS›¯ 
©õØÖa^mkPÒ 

31,500 Á[Q 1,20,000

Põ¨¦ {v 1,20,000 {»•® 
Pmih•® 

2,50,000

öPõk£h ÷Ási¯ ö\»ÄPÒ 4,000 AøÓP»ß 35,000

•uÀ:  \μUQ¸¨¦  1,45,000

£õsi¯ß 1,80,000  PhÚõÎPÒ 1,30,000

£À»Áß 1,65,000   

÷\õÇß 95,000 4,40,000  

 6,90,000  6,90,000
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 1.1.2015À ÷\õÇß Gß£Áøμ Tmhõsø©°À ¤ßÁ¸® 
•øÓ°À ÷\ºUQßÓÚº. 

 (A) ÷\õÇß •u»õP ¹.80,000 zøu ÁÇ[Q 1/4  C»õ£ 
ÂvP® ö£ÖQÓõº. 

 (B) AøÓP»ß «x ¹.3,500 ÷u´©õÚ® 
PnUQh¨£kQÓx. 

 (C) \μUQ¸¨¦ «x 10 \uÃu® ÷£õUöPÊxP. 

 (D) {»•® Pmi•® ¹.3,25,000 ©õP E¯ºzu ÷Ásk®. 

  ©Ö ©v¨¥k PnUS, •uÀ PnUSPÒ, Á[Q PnUS 
©ØÖ® C¸¨¦ {ø»U SÔ¨ø£ ¦v¯ TmhõÎ 
÷\ºUøP²hß u¯õ›UP. 

18. Selva kumar, Saravana kumar and Vinod kumar were 
partners of a firm sharing profits and losses in the ratio 
of 3:2:1. Set out below was their balance sheet as on  
31st  December 2014. 

Liabilities Rs. Assets Rs. 

Bills payable 15,000 Cash in Hand 3,000

Sundry creditors 25,000 Cash at Bank 35,000

Capital Accounts:  Bills receivable 11,000

Selvakumar: 80,000  Book debts 18,000

Saravanakumar: 50,000  Stock 36,000

Vinod kumar: 40,000 1,70,000 Furniture 7,000

Profit and Loss A/c 30,000 Machinery 50,000

  Building 80,000

 2,40,000  2,40,000

 Selvakumar retired from the partnership on 1st  January 
2015 on the following terms: 

 (a)  Goodwill of the firm was to be valued at Rs.30,000. 

 (b)  Assets are to be valued as under: Stock Rs. 30,000: 
Machinery Rs. 40,000; Buildings Rs. 1,00,000 

 (c)  A provision for doubtful debts be created at  
Rs. 1,000. 
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 (d)  Rs.21,500 was to be paid to Selvakumar 
immediately and the balance was transferred to his 
loan account. 

  Show revaluation account, capital accounts, bank 
account and the balance sheet of the reconstituted 
partnership. 

 ö\ÀÁ S©õº, \μÁn S©õº ©ØÖ® Â÷Úõz S©õº  BQ¯ 
TmhõÎPÒ 3:2:1 GßÓ C»õ£|mh  ÂQuzvÀ ¤›zx 
Á¸QßÓÚº. AÁºPÎß 31 i\®£º 2014 B® |õøÍ¯ 
C¸¨¦ {ø» SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

ö\¾zxÁuØS›¯ 

©õØÖa^mkPÒ 

15,000 øP°¸¨¦ 

öμõUP® 

3,000

£Ø£» PhÜ¢÷uõºPÒ 25,000 Á[Q öμõUP® 35,000

•uÀ PnUS  ö£ÖÁuØS›¯ 

©õØÖa^mkPÒ 

11,000

ö\ÀÁS©õº: 80,000  HmkUPhß 18,000

\μÁnS©õº: 50,000  \μUQ¸¨¦ 36,000

Â÷Úõz S©õº: 40,000 1,70,000 AøÓP»ß 7,000

C»õ£ |mh PnUS 30,000 C¯¢vμ® 50,000
  Pmih® 80,000

 2,40,000  2,40,000

 ö\ÀÁS©õº 1 áÚÁ› 2015 AßÖ Tmhõsø©°¼¸¢x 
¤ßÁ¸® •øÓ°À K´Ä ö£ÖQÓõº. 

 (A) {ÖÁÚ |Øö£¯º ¹.30,000 GÚ ©v¨¤h¨£kQÓx. 

 (B) ö\õzxUPÒ ¤ßÁ¸©õÖ ©v¨¤h¨£kQÓx,  
\μUQ¸¨¦ ¹.30,000, C¯¢vμ® ¹.40,000 ©ØÓ® 
Pmih® ¹.1,00,000. 

 (C) Áμõ I¯UPhß JxUS ¹.1,000 US JxUP ÷Ásk®. 

 (D) ¹.21,500 EhÚi¯õP  ö\ÀÁ S©õ¸US ö\¾zu 
÷Ási¯x ©ØÖ® «u öuõøP AÁ¸øh¯ Phß 
PnUQÀ øÁUP¨£k®. 

  ©Ö©v¨¥k PnUS, •uÀ PnUSPÒ, Á[Q PnUS 
©ØÖ® C¸¨¦ {ø»U SÔ¨ø£ u¯õ›UP. 
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19. What are the accounting treatments in a firm when all 

partners are insolvent? 

AøÚzx TmhõÎPÐ® ö|õi¨¦ {ø» Aøh²® ÷£õx 

{ÖÁÚzvØPõÚ PnUQ¯À |øh•øÓPÒ ¯õøÁ ? 

20. X, Y and Z are partners in a firm, Who are sharing profits 

and losses in the proportions of 3:5:2 respectively. The 

following is the balance sheet as on 31.12.2010. On that 

date they decided to dissolve the partnership. 

Liabilities Rs. Assets Rs. 

Sundry Creditors 13,600 Cash 3,200

  X 30,400 Sundry Assets 56,000

  Y 20,800 Profit and loss A/c 8,000

  Z 2,400  

 67,200  67,200

 The firm is dissolved and the realizations of assets were 

as follows; 

Realization Books Value of Assets Amount Realized

I 24,000 20,000 

II 20,000 12,000 

III 12,000 8,000 

 Y has become insolvent and a sum of Rs. 1120 is 

recovered from his private estate in full settlement. 

Prepare a statement showing how the distribution should 

be made by following maximum loss method. 
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 X, Y ©ØÖ® Z BQ¯ TmhõÎPÒ u[PÐQøh÷¯¯õÚ 
C»õ£ |mh £QºøÁ  •øÓ÷¯ 3:5:2 GßÓ ÂQuzvÀ 
¤›zx Á¸QÓõºPÒ. 31.12.2010 B® |õÒ Tmhõsø© 
Pø»¨¤ØS •iÄ ö\´QÓõºPÒ A¢|õøÍ¯ C¸¨¦ {ø» 
SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
£Ø£» 
PhÜ¢÷uõºPÒ 

13,600 öμõUP® 3,200

  X 30,400 £Ø£» ö\õzxPÒ 56,000

  Y 20,800 C»õ£ |mh PnUS 8,000

  Z 2,400  

 67,200  67,200

 ö\õzxUPøÍ ¤ßÁ¸® •øÓ°À ©Ö©v¨¥k 
ö\´QßÓÚº. 
©Ö©v¨¥k Hmiß £i ö\õzvß ©v¨¦ ©Ö©v¨¥k öuõøP

I 24,000 20,000 

II 20,000 12,000 

III 12,000 8,000 

 Y ö|õi¨¦ {ø» Aøh¢x ußÚøh¯ ö|õ¢u 
ö\õzv¼¸¢x ¹.1,120 uÚx •Ê £[SUPõP AÎUQÓõº.   
AvP£m\ \mh •øÓ£i AÁºPÎß £QºÂØPõÚ 
AÔUøPø¯ u¯õ›. 

 

 

 
———————— 


	com-2.pdf
	7BCO3C4.pdf


